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Solve the following by using the count on or take from strategy ten and tick (¢)
on the strategy you used.
1) Tom has 18 muffins. His friends ate 9 muffins. How many muffins are left with

John?

18-9=__

Take from ten.

Count on.

2) In a playground, 16 children are playing. 9 children stop playing and went home.
How many children are still playing in the playground?

16 -9=__

Take from ten.

Count on.

3) Mark has 14 toy robots. He is playing with 9 of the toy robots. How many robots
are left?

14-9=__

Take from ten.

Count on.
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